Set up instructions for the Rhyas 320kg Large Garden Trolley. 53380
Tools needed: You will need a socket set and pliers
Build time: 20 minutes maximum
Layout all the parts and check them against the inventory sheet provided.
1. Place the main base on the cardboard box, upside down with the mounting holes facing up.
2. Bolt on the front bracket to the main base using four of the M8 x 15 bolts.
3. Bolt on the rear bracket to the main base using four of the M8 x 15 bolts.

4. Fit the front draw bar onto the front bracket using one of the M16 washers and a single split pin.
Bend the long part of the split pin 90 degrees to keep the bar in place.

5. Fit the wheels using one of M16 washers and a single split pin.
Bend the long part of the split pin 90 degrees to keep the bar in place.
Now turn the base over so the wheels support the

6. Attach the sides laying them flat on the main base (Please make sure that the hooks are on the
inside of the frame). Secure with two R clips. Repeat this until both sides are fitted.

7. Fit the front and rear sections with the locking handles facing outwards and use two R clips for
each end. Secure the sides, front and back using the retaining bolts.

8. Fit the handle using the remaining bolt and plastic mount.



